Math 151           Quiz 3                11/30/00               Name  ___________________________

1.  Circle all that are true.

 Suppose a 95% confidence interval for the mean ( of a population was found to be 8 to 12.

 A.  There is .95 probability that ( is between 8 and 12.

 B.  The margin of error for this confidence interval is 4.

 C.   If we increased the confidence level then the margin of error would increase.

 D.   The sample mean used to find this confidence interval is 10.

2.  Find a 90% confidence interval for the population mean given the following.  You use a SRS of size 64 and get a sample mean of 20.  The population standard deviation is 4.  [Note that Z* =  1.645 for this problem.]  Show your method.

3.  What sample size would you need in problem 2 to get a margin of error of  0.3. 

      Show your method.

4.  Write the most appropriate alternative hypothesis in the following situations:

      a.  Testing the amount of lead (pollutant) in drinking water       H0: (=0.001    Ha:  __________

      b.  Testing the amount of insulin in an injection                          H0: (=1.5        Ha:  __________ 

5.  Find the following.  (Use Table A and not a statistical calculator to find Z values.)

a.  Z* needed to calculate an 86% confidence interval.     ______________

b.  The P-value given the following information: H0: (= 20      Ha: (> 20    

         Sample Size = 81   Sample mean = 21    Population standard deviation = 5   

c.  What would the P-value be if the alternative hypothesis in part b were Ha: (( 20?  ___________

d.  Would the tests in part b or part c be significant at a .05 level?  Explain briefly.

